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BUSINESS STATISTICS–I

Paper–BBA–203

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 is compulsory. Attempt

remaining four questions, out of remaining seven questions. Each question

carries 16 marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1 vfuok;Z gSA 'ks"k lkr
iz'uksa esa ls pkj iz'uksa dk iz;kl dhft,A izR;sd iz'u ds 16 vad gSA

Compulsory Question (vfuok;Z iz'u)

1. Explain the following in up to 50 words each (2 marks each part) :

fuEufyf[kr dks vf/dre 50 'kCnksa esa le>kb, (çR;sd Hkkx ds fy, 2 vad)%

(a) “Statistics deals with Statistics through Statistics.” Comment on this

statement.

^^lkaf[;dh lkaf[;dh ds ekè;e ls lkaf[;dh ls lacaf/r gSA** bl dFku
ij fVIi.kh dhft,A

(b) Time Reversal Test in Index Numbers.

baMsDl uacjksa esa Vkbe fjolZy VsLVA

(c) Quadratic Mean. (d) Kurtosis.

f}?kkr ekè;A dqVks ZfllA

(e) Pie Diagram. (f) Micro soft Excel.

ikbZ vkjs[kA ekbØkslkWÝV ,DlsyA

(g) Paasche’s index construction method

ik'ks dh vuqØef.kdk fuekZ.k fof/A

(h) Geometric mean.

ft;ksesfVªd ekè;A



2. Differentiate between the Secondary data and Primary data. Explain sources

of Secondary data giving their merits and demerits.

ekè;fed MsVk vkSj çkFkfed MsVk ds chp varjA ekè;fed MsVk ds lzksrksa dks muds

xq.k vkSj nks"k crkrs gq, le>kb,A

3. The following data show the expenses of two families A and B made

on various items. Construct a rectangular diagram :

fuEufyf[kr vkadM+s fofHkUu enksa ij fd, x, nks ifjokjksa A vkSj B ds [kpks± dks

n'kkZrs gSaA ,d vk;rkdkj vkjs[k dh jpuk dhft, %

Item of expenditure Family–A Family–B

(Monthly Income (Monthly Income

Rs. 30,000) Rs. 40,000)

Food 5550 7280

Clothing 5100 6880

House Rent 4800 6480

Fuel and Light 4740 6320

Education 4950 6640

Miscellaneous 4860 6400

Total 30,000 40,000

4. Find Mean Age, Standard deviation and coefficient of variation from the

data given below :

uhps fn, x, vkadM+sa ls ekè; vk;q] ekud fopyu vkSj fHkUurk dk xq.kkad Kkr

dhft,%

Age in Years No. of Workers Age in Years No. of Workers

10–20 2 50–60 4

20–30 4 60–70 4

30–40 4 70–80 2

40–50 8
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5. (a) Define Mode and explain the procedure of Computing with illustration.

fof/ dks ifjHkkf"kr dhft, rFkk lax.kuk dh çfØ;k dks mnkgj.k lfgr

le>kb,A

(b) Explain limitations of mode as a method of Central Tendency and

give any two practicl situations where you will recommend the use of

mode.

dsUæh; ço`fÙk dh ,d fof/ ds :i esa cgqyd dh lhekvksa dh O;k[;k
dhft, vkSj dksbZ nks O;kogkfjd fLFkfr;k¡ nhft, tgk¡ vki cgqyd ds
mi;ksx dh fliQkfj'k djsaxsA

6. The number of Patients visiting a hospital for seven days in a month is

given below. Calculate variance and Standard deviation :

eghus esa lkr fnu vLirky esa vkus okys ejhtksa dh la[;k uhps nh xbZ gSA fopj.k
vkSj ekud fopyu dh x.kuk dhft,%

Days 1 2 3 4 5 6 7

No. of Patients 240 260 270 245 255 286 264

7. Describe methods of selecting a representative sample from a finite population.

Also explain suitability and limitations of these methods.

ifjfer lef"V ls çfrfuf/ çfrn'kZ ds p;u dh fof/;ksa dk o.kZu dhft,A bu fofèk;ksa
dh mi;qÙkQrk vkSj lhekvksa dh Hkh O;k[;k dhft,A

8. Describe the following in up to two page each :

fuEufyf[kr dk nks i`"Bksa rd o.kZu dhft,%

(a) Statistical method of Business forecasting.

O;kikj iwokZuqeku dh lkaf[;dh; fof/A

(b) Sales force opinion method of demand forecasting.

ekax iwokZuqeku dh fcØh cy jk; i¼frA

(c) Limitations of Index number.

lwpdkad la[;k dh lhek,aA

(d) Relation between Mean, Median and Mode.

ekè;] ekfè;dk vkSj cgqyd ds chp laca/A
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